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General Instructions:

a)
b)
c)

d)

e)

All questions are compulsory 2 B
Thoqquosllon paper cgnsists of 40 questions divided into foyr sections A g
Section A comprises of 20 questions of 1 Mark each. Section B comprise D
of 2 marks each. Section C comprises of 8 questions of 3 marks each sés i e
_(l:_cr)]mprises of 6 questions of 4 marks Qatc':ﬁal " PSRNt
ere is no overall choice. However intérnal choices haye p ided i :

mark each, two questions of 2 marks each, three questions g? g ﬂ:ﬁged lnhtwo questions of 1
of 4 marks each. You have to attempt only one of the alternatives in all each el
Use of calculators is not permitted. all such questions.

N

Section A _

The HCF of smallest composite number and the smallest prime number is
a) 0 b) 1 c)2 d) 3

For the following distribution, the sum of lower limits of the median class and the modal
~ class is

C.l —0-5 5-10 | 10-15 15-20 | 20-25
Frequency 10 15 12 20 9

a) 15 'b) 25 c) 30 d) 35

The largest number which divides 70 and 125, leaving remainders 5 and 8 respectively
!:) 13 b) 65 c) 875 d) 1750

If a pair of linear equation is consistent, then the lines will be

a) parallel b) always coincident

¢) intersecting of coincident d) always intersecting



10.

(Q.11= Q.15) Fill in the blanks.

1.

12

13.
14.

15.

a
Given that sino = "')' then cosp =
a

b 2 Vbi=gz -

= Mo 95— I
is
If tan2A = cot(A — 1 53)0, where 24 js an acute %ngle, the value of A
Given that sina = 1/3 and cosf = 14 , then value of (a+ B) is
2) 0’ b)30°  cjeo®  d)90°
p+4), then the
I (-1, 1) is the mid point of the line segment joining A(-3, b) and B(1, )
value of b is
The distance between the point P( —6, 8) from the origin is:
a)8 b) 27 c) 10 d)6
Point on X-axis has coordinates:
b) (0, a) c)(-a,a) d)(a -2

a)(a 0)

-

e ]

al portion raised upward atthe —

The capacity of a cylindrical vessel with-hemispheric
bottom as shown in the figure is --------===="""""

The value of k for which the roots of the equation kx(3x —4) + 4 =0 are
equal is --——==-———

OR
If 1 is a zero of the polynomial p(x ) = ang.— 3(a - 1)x — 1, then value of a is-———-———

In AABC, DE||BC and AD=2.4cm, AE=3.2cmand EC = 4.8 cm. Then AB = -——-—aemumn

The 215 term of an AP whose first two terms are =3 and 4 is --—---— =

A card is selected from a deck of 52 cards. The probability of it being a red face

card i§ ————-m————-

Z



(Q.16 — Q.20) Answor tho following

16.  In AABC, DE||BC so that AD = (7x ~ 4) oM ae
EC =3xcm, Find x,

' - B
(5% <2y M. DB = (3% + 4) ¢ry and

7. The HCF of two numbers Is 23 and their LCM i '
449. 1f one of the
n

the other.
urber is 181, fing

8. Infigure AB is a chord of a circle and AQ Is it
is a tangent to the circle at the point A, fing thes ngiiarneter Such that <ACB = 50° |f aT
€asure of <BAT. '

OR

If a chord AB subtends an angle 60° at the centre i
of a
‘between the tangent at A and B.__ < Firele. then find the angle

e

19.  The sum of first n terms of an AP is 3n + 6n. Find the common difference.

20.  Find the value of k for which the following system of linear equations has an infinite
number of solutions.
2x+3y=7
(k-1)x + (k+2)y = 3k ‘
Section B

21.  If S times the fifth term of an AP is equal to 8 times the eighth term, show that its
13" termis 0.

22.  Prove that the parallelogram circumscribing a.cirqle is a rhombus.
23. Infigure, if AB||DC and AC and PQintersect each other at the point O, prove
that OA.CQ = OC.AP

A P B

D Q ¢
OR

In a trapezium ABCD, O is the point of intersection of AC ngoBDD‘ ABJ|CD and
AB = 2CD. If the area of AAOB = 84 cm?, find the area of k ,



24.

25,

26.

27.

28.

29,

30.

ater. Itis a kind of

at the surface of an

o function under W
If it

A submarine is a type of wq doslgne® ' o a submarine

naval vessel typically used rorlon:.:ﬂﬁ,':y purp Oim}gmﬂrn angle 30°? with the surface.

ocean makes an emergency divg. It8 path ma il It b6?

goes 300m long its downward pajh, how deeP w .
the probability {hat the number on

Cards numbered 11 to 60 arg kept In @ bOX: find

drawn card Is
i) a perfect square number
i) a prime number less than 20

OR

A child has a die whose 6 faces show the letters given below:

ABCADE]

The die is thrown once. What is the probability of getting
' i ' i i 1m x 2m X 7m

A farmer wants to dig a well either in the form of cuboid of dimensions ' ;

or in the form of a cylinder of diameter 1m and depth.7m. The rate to dig the well is

Rs. 50/m°. Find the cost to dig both wells. Which one will cost more?

A i)D

S useeemSection C

Prove that +/3 is irrational.

OR

Show that every positive odd integer is of the form (6m + 1) or (6m + 3) or (6m + 5) for
some integer m.

The sum of first 6 terms of an AP is 42. The ratio of its 10" term to 30" term is 1:3.
Find the first and 13" terms of the AP.

Solve the following system of equations:

5 1

x—-1+y—2_

6 3

x—1_y—2 1
OR

x y _

a+b_2

ax—by=a2_b2

. 3 .
Find all the zeros of 2x* - 3x® - 5x? + 9x — 3, it being given that two of its zeros

are v3 and — /3.
L :



31, Jaspal started walking from his housg

goes to a bank first, from there to tl\)'s uaugh'tcg‘-
What is the extra distance 1rave!lo:i y Jaspal or'y
at(2, 4), bank at (5, 8), school at (13, 14 ang

Ing .
s:’tqad o going to officn directly ha
In react‘\?m' and then reachas the offica
off; ng offica if the housa ig situated

@at(13, 2, :
If (coseca - sinA) = a® and (secA = COSA) « 4

32,
OR

sin? 45°+%cosct:230°-C086 0

. +tan2 g0
sin2 30°+c05260°+3&3\

0
Evaluate
€2450

33. In the figure given below, PSR, RTQ ang pp

: - PAQ are three i
3cm and 7cm respectively. Find the perip, semi

Circles of diameters
®ter of the shaded e,

region.

"
34.  Raju collected the details of weekly pocket money received by students of his class.
" The total number of students is 44. After collec

ting the data, he analysed the data and
prepared a report on the weekly pocket money r

eceived by students of his class. Using
this report, he drew the following graph.
T
Meana: - T+ - _"_:'__‘;}' s
= e e i s M el P h s
40 : T* e :& oam S .:;A., e
g o
3 =
a -
h‘ »
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' ‘PacketMoney, {inReE)

Based on the above graph, answer the following questions:

i) Form the frequency distribution table for the‘data. tonte

ii) Find the median weekly pocket money received by studen is. -
iii) Obtain the mode of the data if mean weekly pocket money .

5;




35,

36.

37.

38.

39.

40.

Soctlon D
Draw an isosceleg trian

APQR similar to l.\/ﬂul?,c;gl0 ABC |p which AB = AC = 6¢m and BC = 5¢cm. Construct

N Which PQ = 8em.
OR
Draw a circle of radiu { ‘
Sther $ 5¢m. Dray, o tangents to the circle perpendicular to each

Prove that the ratio of the are imilar triangles is equ
ratio of their corresponding sie:jse:f two similar triangles is equal to the square of the

An aeroplane left 3¢ minutes
destination 1500km away in
usual speed. Determine its

later than its scheduled time and in order to reach the
Me, it had to increase its speed by 250km/hr from its
Usua| speed.

OR

Solve the following equation:
=9(a +b)x + (2a% + 53p + 2b%) =

A bucket is in the form of a frustum of a cone of height 30cm with radii of its lower and
upper ends as 10cm and 20cm'respectively. Find the capacity and surface area of the
bucket. Also find the cos

t of milk which can completely fill the container at the rate of
Rs. 25 per litre. (use = 3.14)

OR

500 persons are taking a dip into a cuboidal
What is the rise in water level in the pond,
person is 0.04 m?3.

pond which is 80m long and 50m broad.
if the average displacement of water by a

A 1.2m tall girl spots a balloon moving with the wind in a horizontal line at a height of
88.2m from the ground. The angle of elevation of the balloon from the eyes of the girl at

any instant is 60°. After some time, the angle of elevation reduces to 30°. Find the
distance travelled by the balloon during the interval,

An aircraft has 120 passenger seats. The number of seats occupied during 100 flights
is given in the following table.

No. of seats 100 - 104 - 104 -108 108 - 112 112—116: 116 -120

Frequency 15 ) 20 32 18 15

Determine the mean number of seats and modal number of seats occupied over the
flights.



